Name_______________________________________ Date__________ Period________


CASIO Calculator 101 – Your new best friend

When you turn on your calculator, press MENU.  These are your basic options.  

The most common two you will use are “RUNMAT”, “GRAPH”, and “TABLE”.  

The EXIT key is like the back button on a web browser.  When you push exit, it will take you back to the screen you had previously under that mode.  

To change settings under any mode, enter the program and then press SHIFT, MENU

1.  Let’s start under the RUNMAT mode.  

Press SHIFT, MENU

Under the input mode, push F1 to select Math.  This will make your life easier

Press EXIT to return to the RUNMAT mode

a. Let’s try to solve 
[image: image1.wmf] using our calculator

1. Get calculator to the RUNMAT mode (MENU, 1)

2. Make sure your calculator is under math mode entry setting

3. Press F4 (under MATH)

4. Press F2 (under logab)

5. Like Microsoft Equation Editor, enter 2 in subscript box and 2-1 in the box found in the parenthesis.  Use the arrows to move from box to box.

6. Press EXE to solve

The answer is _____________

b. Try the same to solve 
[image: image2.wmf]
c. Solve 
[image: image3.wmf]
2. Time for graphing!  Let’s try graphing 
[image: image4.wmf]
1. To graph 
[image: image5.wmf], we will copy and past from the RUNMAT mode

2. In the RUNMAT mode, type 
[image: image6.wmf] (using same steps from part 1)

3. Press EXE

4. Use arrows to highlight 
[image: image7.wmf]
5. Press SHIFT, 8, F1

6. Press MENU, 5

7. Make sure Y1 is clear

8. Push right arrow to get in Y1 

9. Push SHIFT, 9 to paste information

10. Press EXE

11. Press F6 (under DRAW) – Now it’s graphed!

a. Find the x-intercept of 
[image: image8.wmf]
1. After you have graphed the above function, press F5 (G-Solv)

2. Select F1 (ROOT)

3. Done!

The x intercept is __________

b. Make a table of the function 
[image: image9.wmf]
1. After you have graphed the function, press MENU, 7

2. Press F6 (TABL)

3. Scroll through x values

4. Neat feature! – to find the y value to go with any x value, type the desired x value into the calculator.

Find the y value that goes with the x value of 3_____________

c. Check to see if the point (8, 3) is on the graph for 
[image: image10.wmf]
1. Make a table for the function 
[image: image11.wmf]
a. MENU, 1

b. Type 
[image: image12.wmf]
c. Press EXE

d. Use arrows to highlight 
[image: image13.wmf]
e. Press SHIFT, 8, F1

f. Press MENU, 7

g. Make sure Y1 is clear

h. Push right arrow to get in Y1 

i. Push SHIFT, 9 to paste information

j. Press EXE

k. Press F6 for TABL

l. Enter 8 in the x column

Is the y value 3?______________

3.  Find the domain, vertical asymptote, and x-intercept of the logarithmic function


Standard domain, vertical asymptote, and x-intercept of logarithmic functions of the form 
[image: image14.wmf]
	
	Domain
	Vertical Asymptote
	x-intercept

	
[image: image15.wmf]
	(0, ()
	x=0
	(1, 0)


a. 
[image: image16.wmf]
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b. 
[image: image18.wmf]
	
	Domain
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c. 
[image: image20.wmf]
	
	Domain
	Vertical Asymptote
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*You may use the graph or table to help you with this!  Notice only things in the parenthesis change the domain, vertical asymptote, and x-intercept!

**Quick way to find x-intercept

1.  Graph function in calculator

2.  Press F5 (G-Solv)

3.  Press F1 (ROOT)

This is your x-intercept! – That was easy!

Extra Notes on Logs – Just in case you want it

	
	
[image: image22.wmf]

	Domain
	(0, ()

	Range
	(-(, ()

	X-Intercept
	(1, 0)

	Asymptote
	x=0


Just like copy and paste!





Just like copy and paste!
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